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ECEN 325
Homework #8 Multisim

Instructor: Sam Palermo

vop

DC Operating Points
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gate N Q1 0
P ()
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April 12,2019

Grapher View B =
File Edit View Graph Trace Cursor Legend Tools Help
ERYwxaB| fr G| A aqae
AC Sweep | AC Sweep | AC Sweep | AC Sweep | AC Sweep | AC Sweep  DC Operating Point ]
hw6_dc
DC Operating Point Analysis
_] Variable | operating point value
1 v{drain) 7.03483
2 |V(gate) 5.20408
3 Vsource) 3.06401
4 |vvx) 298517
[5 1(rD) 988.39030u

Selected Diagram:DC Operating Peint Analysis
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2. Common Source Amplifier

AV and Gv

hwé_cs
AC Sweep

100 [ 10 100
Frequancy (Hz)

The simulated value of 23.7dB closely matches the hand calculation of 23.7dB for both Av and
Guv.

Rin
hwé_cs
AC Sweap

'The simulated Rin .Value of 108dBQ rﬁétches the hand ca.llculation of 108dBQ.

Rout

hwé_cs
AC Sweep

The simulated Rout value of 69.5dBQ closely matches the hand calculation of 69.5dBQ.
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3. Common Drain Amplifier

AV and Gv

hwé_cs
AC Sweep

- ~ = —
— . Finquancy (H)

The simulated value of -0.22dB and -0.23dB closely matches the hand calculation of -0.22dB for
both Av and Gv, respectively.
Rin

hwt_cs
AC Sweep

o

The simulated Rin value of 108dBQ matches the hand calculation of 108dBQ.

Rout

hwé_cs
AC Sweep

Magninde

Froquency [Hz)

The simulated Rou value of 36.8dBQ closely matches the hand calculation of 36.7dBQ.
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4. Common Gate Amplifier

AV and Gv

hwé_cs
AC Sweep

Magritude

o
Froquancy (Hz)

The simulated Av value of 31.4dB matches closely the hand calculation of 31.4dB. The
simulated Gv value of 26.6dB closely matches the hand calculation of 26.7dB.

Rin
hwé_cs
AC Sweep

108

The simulated Rin value of 36.8dBQ rhétches the hand calculation of 36.7dBQ.

Rout

hwé_cs
AC Sweep

m0c]

0 100

Froquoncy (Hz)

The simulated Rout value of 69.5dBQ closely matches the hand calculation of 69.5dBQ.
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